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BE= 37 25 23.6616
BE= 138 50 13. 0431
8 S DX (m) DY (m) DZ (m) \OVEY]
303 2 125. 484 26.612 101. 242 113A
10B96 10B95 125. 466 26. 637 101. 249 113B
gwE= (AKX AY, A7) 0.018 -0.025 -0. 007
gE= (AN, AE, AU0) 0.013 0. 007 -0. 028
HREHE (AN, AE, A0) 0.020 0.020 0.030
=] ES DX (m) DY (m) DZ (m) \OVEV,
2 1 9.039 -211.017 189.216 | 113A
10B95 10B94 9.059 -211.027 189.208 | 113B
= (AKX AY, A7) -0.020 0.010 0. 008
= (AN, A8, AU0) -0. 007 0. 006 0.022
HREHE (AN, 4E, AU) 0.020 0.020 0.030
8 S DX (m) DY (m) DZ (m) \OVEY]
1 301 26. 704 -119. 881 127.695 | 113A
10B94 10B93 26. 713 -119. 888 127. 691 113B
gE (AKX A, A -0. 009 0. 007 0. 004
gE= (AN, AE, AU0) -0. 004 0. 001 0.011
HREHE (AN, AE, A0) 0.020 0.020 0.030
8 S DX (m) DY (m) DZ (m) tyyay
303 2 125. 466 26. 637 101.253 | 113C
10B96 10B95 125. 460 26. 624 101. 241 113D
gE (AKX A, A1) 0. 006 0.013 0.012
gE= (AN, AE, AU0) 0.007 -0.014 0.011
REHE (AN, AE, A0 0.020 0.020 0.030
=] S DX (m) DY (m) DZ (m) \OVEV]
2 302 79.723 -19. 958 96.677 | 113C
10B95 1023A 79.703 -19. 946 96. 669 113D
gE (AKX A, AD) 0.020 -0.012 0. 008
gE= (AN, AE, AU0) 0.020 -0. 004 -0.013
REHE (AN, AE, A0) 0.020 0.020 0.030
8 S DX (m) DY (m) DZ (m) tyyay
BE (A A, A7)
gE= (AN, AE, AU0)
REHE (AN, AE, A0 0.020 0.020 0.030
8 S DX (m) DY (m) DZ (m) tyyay
BE (A A, A7)
gE= (AN, AE, AU0)
REHE (AN, AE, A0) 0.020 0.020 0.030
8 S DX (m) DY (m) DZ (m) tyyay
BE (A A, A7)
gE= (AN, A8, AU0)
REHE (AN, AE, A0) 0.020 0.020 0.030




